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The figures in the margin indicate full marks

Jor the questions
1. oe [P v% bl R Sfrea - 1x8=8
Choose the correct answer from the

following :

(a) THIHOR & 96l g4 BRY T’

One of the chief characteristics of tribal
society is

(i) ReRi339 / specialization
() R / dormitory -
(iij) STf® ARMere1'/ social mobility

8P/472 ( Turi Over )



(2)

@) Fremes s 79 feis T
Main supporter of patriarchal theory is
() REBR I
Wester Mark

(i) <=, Q.
L. A. Morgan

Karl Marx

(c) Caste in Modem India NI 8T FRA
e 2

Who wrote the book, Caste in Modern
India?

) a3. o=, K

M. N. Srinivas

@ f. R. JER
_T. B. Bottomore

(i) N QAX
Max Weber
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(3)

(d) Kinship Organization in India 991 J839

A ke 2

Who wrote the
Organization in India ?

) 9. 9. A

M. N. Srinivas

(i) Rl oy
Kingsley Davis

(i) "[RO Fi

Iravati Karve

(e) TR R3g @3

8P/472

Muslim marriage is a

fi) e 3

social contract

(i) ¥ AT

religious sacrament

(ifi) @] oIS T

None of the above

Kinship

{ Turn Over )



(4)

(N =S IR YT Frary dam P 25

Main propounder of the occupational
theory of caste system is v

) oS
Nesfield

(i) R
Risley

(i) 9. &=, MR

M. N. Srinivas

(@ <. . TFRGT EA e FEFEII
SRYREICH! SIIIGH ?

In which year M. N. Srinivas introduced
the concept of Sanskritization?

i) 83
1919

(i) >vex
1952

(iii) S»e9
1953

8P/472 ( Continued )

*



(5)

(h) FRAE Y P A

Main supporter of Naturism is

i) &% PR
Max Milar

(i) ¢ @@H{

' Max Weber

(iii) el T
Karl Marx

2. w| R RGN GRGRA 5 G fr (gl 150
g foo3e) | 4x4=16
Write short notes on any four of the following
(within 150 words each) :

(a) EASTOH FAE
Tribal society

(b) TR TS
Kinship system

c) THFRF “RTER ST

Problems of modern family
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(d)

(e}

(6)

ey ol

Hindu religion

e

Corruption

3. oo R T IRGH < a7 Far (oK 500 e
fooo -

Answer any four questions (within
500 words each) :

(a)

(b)

(c)

8P/472

a e {Fet @ am e gew
CIMBPTR SIS 0 | 4+10=14

What do you mean by rural society?
Discuss the main characteristics of
rural society.

“fm AR @3 T IFR L WA w91 14

“Hindu marriage is a religious
sacrament.” Discuss.

RS WS W W RS TIR 99
TePB Tara | e =4 | 14
Indian caste system is one of the best

example of closed social stratification.
Discuss.
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(7))

(d) ‘wRwel 9F ANES ST 17 s F1 14

“Poverty is a social problem.” Discuss.

(e) ‘SIPrOTICT SROW e ARAGT 71 oy
PR 1”7 HCEAwA F47 | 14

“Sanskritization has paved the way for

social change in India.” Discuss.
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